
The Fall of Night (Earth Alliance Playtest) 

Sol (10 CAP, 5 RAW, 6 CEN, 5 MOR, 5 PRD) 

1 Supply Depot 

1 Shipyard 

1 Convoy 

2 Epimetheus 

2 Oracle 

4 Artemis 

4 Laertes 

6 Infantry 

5 Delta-V 

 

Escorts 

Class Name Size TL Cost Maint DV AS AF BC CR CC Special Notes 

Laertes (Beta) CT 0 2 1/4 3 2 1 0 2 1 Atmospheric, Police 

Artemis (Alpha) DD 0 4 1/4 4 4 2 0 2 1 

 

Cruisers 

Class Name Size TL Cost Maint DV AS AF BC CR CC Special Notes 

Epimetheus (Alpha) CB 0 8 2/3 7 5 3 0 5 2 Slow 

Oracle (Alpha) CL 0 7 2/2 5 1 1 1 4 2 Scout 1, Supply 1 

 

Capital Ships 

Class Name Size TL Cost Maint DV AS AF BC CR CC Special Notes 

Orestes (Alpha) CB 0 10 2/3 8 7 2 1 6 3 Slow 



Avenger CB 1 10 2/2 7 3 2 8 6 3 

 

Bases 

Class Name Size TL Cost Maint DV AS AF BC CR CC Special Notes 

Orion (Alpha) BS? 0 16 3/2 10 4 5 7 6 3 Supply 2 

 

Flights 

Class Name Size TL Cost Maint DV AS AF BC CR CC Special Notes 

Aries MF 0 3 1/6 4 2 3 - - - Non-Atmospheric 

Delta-V LF 0 1 1/10 2 2 2 - - - 

 

Troops 

Class Name Size TL Cost Maint ATR DEF ATK Special Notes 

Infantry LT 0 1 1/10 3 1 2 

Marines MT 0 2 1/6 3 2 3 Marines 

 

=========================== 

Earth Alliance, Year 1 Turn 1 

Starting Treasury: 0 

System Income: 25 

Commerce Income: 5 

Maintenance: 8 

Misc. Income/Expense: 0 

Current Treasury: 22 

Tech Levels: Escorts-0, Cruisers-0, Capital Ships-0, Flights-0, Bases-0, Troops-0 

Tech Investment: 0 

Turn Orders 

BG 2.1 moves to Wolf (Unimportant: 1/4) 



BG 2.2 moves to Barnard (Unimportant: 1/4) 

Convoy @ Sol (5/20) [5 EP] 

Epimetheus @ Sol Shipyard 1 (5/8) [5] 

5 Tech Investment 

Ending Treasury: 7 

BG 1.1 @ Sol 

2 x Epimetheus 

4 x Laertes 

BG 2.1 @ Wolf 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Barnard 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

Sol Defenses 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy 

3 x Delta-V 

 

=========================== 

Earth Alliance, Year 1 Turn 2 

Starting Treasury: 7 

System Income: 25 



Commerce Income: 5 

Maintenance: 8 

Misc. Income/Expense: 0 

Current Treasury: 29 

Tech Levels: Escorts-0, Cruisers-0, Capital Ships-0, Flights-0, Bases-0, Troops-0 

Tech Investment: 5 

Turn Orders 

BG 2.1 surveys Wolf (Unimportant: 2/4) 

BG 2.2 surveys Barnard (Unimportant: 2/4) 

Convoy @ Sol (10/20) [5] 

Epimetheus @ Sol Shipyard 1 (8/8) [3] 

Orestes @ Sol Shipyard 1 (2/10) [2] 

5 Tech Investment 

Ending Treasury: 14 

BG 1.1 @ Sol 

2 x Epimetheus 

4 x Laertes 

BG 2.1 @ Wolf 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Barnard 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

Sol Defenses 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy 

3 x Delta-V 

=========================== 



Earth Alliance, Year 1 Turn 3 

Starting Treasury: 14 

System Income: 25 

Commerce Income: 5 

Maintenance: 8 

Misc. Income/Expense: 0 

Current Treasury: 36 

Tech Levels: Escorts-0, Cruisers-0, Capital Ships-0, Flights-0, Bases-0, Troops-0 

Tech Investment: 10 

Turn Orders 

BG 2.1 surveys Wolf (Unimportant: 3/4) 

BG 2.2 surveys Barnard (Unimportant: 3/4) 

Convoy @ Sol (15/20) [5] 

Orion @ Sol (5/16) [5] 

Orestes @ Sol Shipyard 1 (7/10) [5] 

Oracle @ Sol Shipyard 1 (5/7) [5] 

5 Tech Investment 

Ending Treasury: 11 

BG 1.1 @ Sol 

3 x Epimetheus 

4 x Laertes 

BG 2.1 @ Wolf 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Barnard 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

Sol Defenses 

1 x Supply Depot 

1 x Shipyard 



1 x Convoy 

3 x Delta-V 

=========================== 

Earth Alliance, Year 1 Turn 4 

Starting Treasury: 11 

System Income: 25 

Commerce Income: 5 

Maintenance: 8 

Misc. Income/Expense: 0 

Current Treasury: 33 

Tech Levels: Escorts-0, Cruisers-0, ​Capital Ships-0​, Flights-0, Bases-0, Troops-0 

Tech Investment: 15 

Turn Orders 

BG 2.1 surveys Wolf (Unimportant: 4/4) [Fair Biosphere: +2 Carrying Capacity, 2 jump lanes] 

BG 2.2 surveys Barnard (Unimportant: 4/4) [Rare Metals: +1 RAW, 3 jump lanes] 

Convoy @ Sol (20/20) [5] 

Orion @ Sol (10/16) [5] 

Orestes @ Sol Shipyard 1 (10/10) [3] 

Oracle @ Sol Shipyard 1 (7/7) [2] 

Oracle @ Sol Shipyard 1 (5/7) [5] 

5 Tech Investment 

Ending Treasury: 8 

BG 1.1 @ Sol 

3 x Epimetheus 

4 x Laertes 

BG 2.1 @ Wolf 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Barnard 

1 x Oracle 



2 x Artemis 

1 x Delta-V 

Sol Defenses 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy 

3 x Delta-V 

 

=========================== 

Earth Alliance, Year 1 Turn 5 

Starting Treasury: 8 

System Income: 25 

Commerce Income: 5 

Maintenance: 12 

Misc. Income/Expense: 0 

Current Treasury: 33 

Tech Levels: Escorts-0, Cruisers-0, ​Capital Ships-0​, Flights-0, Bases-0, Troops-0 

Tech Investment: 20 

Turn Orders 

Load Census on Convoy 2 



Orion @ Sol (16/16) [6] 

Orestes @ Sol Shipyard 1 (5/10) [5] 

Oracle @ Sol Shipyard 1 (7/7) [2] 

5 Tech Investment 

Ending Treasury: 15 

BG 1.1 @ Sol 

1 x Orestes 

3 x Epimetheus 

4 x Laertes 

BG 2.1 @ Wolf => Sol 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Barnard => North 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.3 @ Sol => West 

1 x Oracle 

Sol Defenses 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy (Trade Fleet) 

1 x Convoy (Unassigned) 

3 x Delta-V 

=========================== 

Earth Alliance, Year 1 Turn 6 

Starting Treasury: 15 

System Income: 25 

Commerce Income: 5 

Maintenance: 15 

Misc. Income/Expense: 0 

Current Treasury: 30 



Tech Levels: Escorts-0, Cruisers-0, ​Capital Ships-0​, Flights-0, Bases-0, Troops-0 

Tech Investment: 25 

Turn Orders 

4 Laertes @ Sol (8/8) [8] 

Orestes @ Sol Shipyard 1 (10/10) [5] 

1 Artemis @ Sol Shipyard 1 (4/4) [4] 

1 Artemis @ Sol Shipyard 1 (1/4) [1] 

Ending Treasury: 12 

BG 1.1 @ Sol 

1 x Orestes 

3 x Epimetheus 

4 x Laertes 

BG 2.1 @ Sol => Centauri 

2 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Eridani => Barnard [OOS 1] 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.3 @ Centauri (Minor 8/2) Survey 1/8 

1 x Oracle 

Sol Defenses 

1 x Orion 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy (Trade Fleet) 

1 x Convoy (1 Census) 

3 x Delta-V 

6 x Infantry ​(whoops, forgot these weren’t listed) 

Sol:​  10 Capacity, 5 Raw, 6 Census, 5 Morale, 5 Productivity 

Wolf: ​ 6 Capacity, 1 Raw 



Barnard: ​ 4 Capacity, 2 Raw 

Eridani:​  8 Capacity, 2 Raw, 1/8 Surveyed 

Centauri:​  8 Capacity, 2 Raw, 1/8 Surveyed 

 

=========================== 

Earth Alliance, Year 1 Turn 7 

Starting Treasury: 12 

System Income: 25 

Commerce Income: 5 

Maintenance: 17 

Misc. Income/Expense: 0 

Current Treasury: 25 

Tech Levels: Escorts-0, Cruisers-0, ​Capital Ships-0​, Flights-0, Bases-0, Troops-0 

Tech Investment: 25 

Turn Orders 

1 Artemis @ Sol Shipyard 1 (4/4) [4] 

1 Artemis @ Sol Shipyard 1 (3/4) [3] 

Ending Treasury: 18 



BG 1.1 @ Sol 

2 x Orestes 

3 x Epimetheus 

4 x Laertes 

BG 2.1 @ Centauri 

2 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Barnard => South 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.3 @ Centauri 

1 x Oracle 

BG 3.1 @ Sol => Barnard 

1 x Artemis 

2 x Laertes 

BG 3.2 @ Sol => Wolf 

2 x Laertes 

Sol Defenses 

1 x Orion 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy (Trade Fleet) 

1 x Convoy (1 Census) 

3 x Delta-V 

6 x Infantry ​(whoops, forgot these weren’t listed) 

Sol:​  10 Capacity, 5 Raw, 6 Census, 5 Morale, 5 Productivity 

Wolf: ​ 6 Capacity, 1 Raw 

Barnard: ​ 4 Capacity, 2 Raw 

Eridani:​  8 Capacity, 2 Raw, 0/8 Surveyed 

Centauri:​  8 Capacity, 2 Raw, 1/8 Surveyed 

=========================== 



Earth Alliance, Year 1 Turn 8 

Starting Treasury: 18 

System Income: 25 

Commerce Income: 5 

Maintenance: 17 

Misc. Income/Expense: 0 

Current Treasury: 31 

Tech Levels: Escorts-0, Cruisers-0, ​Capital Ships-0​, Flights-0, Bases-0, Troops-0 

Tech Investment: 25 

Turn Orders 

Convoy @ Sol (10/20) [10] 

Ending Treasury: 21 

BG 1.1 @ Sol 

2 x Orestes 

3 x Epimetheus 

2 x Artemis 

4 x Laertes 

BG 2.1 @ Centauri 

2 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Indi => Barnard OOS1 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.3 @ Centauri 

1 x Oracle 

BG 3.1 @ Barnard 

1 x Artemis 

2 x Laertes 

BG 3.2 @ Wolf 

2 x Laertes 

Sol Defenses 

1 x Orion 



1 x Supply Depot 

1 x Shipyard 

1 x Convoy (Trade Fleet) 

1 x Convoy (1 Census) 

3 x Delta-V 

6 x Infantry ​(whoops, forgot these weren’t listed) 

Sol:​  10 Capacity, 5 Raw, 6 Census, 5 Morale, 5 Productivity 

Wolf: ​ 6 Capacity, 1 Raw 

Barnard: ​ 4 Capacity, 2 Raw 

Eridani:​  8 Capacity, 2 Raw, 3/8 Surveyed 

Centauri:​  8 Capacity, 2 Raw, 3/8 Surveyed 

Indi: ​ 8 Capacity, 2 Raw, 0/8 Surveyed 

=========================== 

Earth Alliance, Year 1 Turn 9 

Starting Treasury: 21 

System Income: 25 

Commerce Income: 5 

Maintenance: 17 

Misc. Income/Expense: 0 

Current Treasury: 34 

Tech Levels: Escorts-0, Cruisers-0, ​Capital Ships-0​, Flights-0, Bases-0, Troops-0 

Tech Investment: 25 

Turn Orders 

Convoy @ Sol (20/20) [10] 

1 Oracle @ Sol Shipyard 1 (7/7) [7] 

1 Oracle @ Sol Shipyard 1 (3/7) [3] 

Ending Treasury: 14 

BG 1.1 @ Sol 

2 x Orestes 

3 x Epimetheus 



2 x Artemis 

4 x Laertes 

BG 2.1 @ Centauri 

2 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Barnard 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.3 @ Centauri 

1 x Oracle 

BG 3.1 @ Barnard 

1 x Artemis 

2 x Laertes 

BG 3.2 @ Wolf 

2 x Laertes 

Sol Defenses 

1 x Orion 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy (Trade Fleet) 

1 x Convoy (1 Census) 

3 x Delta-V 

6 x Infantry ​(whoops, forgot these weren’t listed) 

Sol:​  10 Capacity, 5 Raw, 6 Census, 5 Morale, 5 Productivity 

Wolf: ​ 6 Capacity, 1 Raw 

Barnard: ​ 4 Capacity, 2 Raw 

Eridani:​  8 Capacity, 2 Raw, 3/8 Surveyed 

Centauri:​  8 Capacity, 2 Raw, 6/8 Surveyed 

Indi: ​ 8 Capacity, 2 Raw, 0/8 Surveyed 



 

=========================== 

Earth Alliance, Year 1 Turn 10 

Starting Treasury: 14 

System Income: 25 

Commerce Income: 5 

Maintenance: 19 

Misc. Income/Expense: 0 

Current Treasury: 25 

Tech Levels: Escorts-0, Cruisers-0, ​Capital Ships-0​, Flights-0, Bases-0, Troops-0 

Tech Investment: 25 

Turn Orders 

1 Oracle @ Sol Shipyard 1 (7/7) [4] 

3 Aries @ Sol (9/9) [9] 

Ending Treasury: 12 

BG 1.1 @ Sol 

1 x Orestes 

2 x Epimetheus 

1 x Artemis 

4 x Laertes 



BG 1.2 @ Sol => Centauri (colonize) 

1 x Orestes 

1 x Epimetheus 

1 x Artemis 

1 x Convoy (1 Census) 

BG 2.1 @ Centauri => West 

3 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Barnard 

1 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.4 @ Sol => Barnard 

1 x Oracle 

BG 3.1 @ Barnard 

1 x Artemis 

2 x Laertes 

BG 3.2 @ Wolf 

2 x Laertes 

BG 4.1 @ Sol => Barnard 

1 x Convoy 

Sol Defenses 

1 x Orion 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy (Trade Fleet) 

3 x Delta-V 

6 x Infantry ​(whoops, forgot these weren’t listed) 

Sol:​  10 Capacity, 5 Raw, 6 Census, 5 Morale, 5 Productivity 

Wolf: ​ 6 Capacity, 1 Raw 

Barnard: ​ 4 Capacity, 2 Raw 

Eridani:​  8 Capacity, 2 Raw, 0/8 Surveyed 

Centauri:​  8 Capacity, 3 Raw 



Indi: ​ 8 Capacity, 2 Raw, 0/8 Surveyed 

=========================== 

Earth Alliance, Year 1 Turn 11 

Starting Treasury: 12 

System Income: 25 

Commerce Income: 5 

Maintenance: 20 

Misc. Income/Expense: 0 

Current Treasury: 22 

Tech Levels: Escorts-0, Cruisers-0, ​Capital Ships-0​, Flights-0, Bases-0, Troops-0 

Tech Investment: 25 

Turn Orders 

3 Aries @ Sol (9/9) [9] 

1 Productivity @ Centauri [10] 

1 Supply Depot @ Barnard [1/20] (1) 

2 Tech Investment 

Ending Treasury: 0 

BG 1.1 @ Sol 

1 x Orestes 

2 x Epimetheus 

1 x Artemis 

4 x Laertes 

BG 1.2 @ Centauri 

1 x Orestes 

1 x Epimetheus 

1 x Artemis 

BG 2.1 @ Rigel (Survey) 

3 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Barnard => Eridani 

2 x Oracle 



2 x Artemis 

1 x Delta-V 

BG 2.5 @ Sol => Barnard 

1 x Oracle 

BG 3.1 @ Barnard 

1 x Artemis 

2 x Laertes 

BG 3.2 @ Wolf 

2 x Laertes 

BG 4.1 @ Barnard 

1 x Convoy 

Sol Defenses 

1 x Orion 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy (Trade Fleet) 

3 x Delta-V 

3 x Aries 

6 x Infantry ​(whoops, forgot these weren’t listed) 

Sol:​  10 Capacity, 5 Raw, 6 Census, 5 Morale, 5 Productivity 

Wolf: ​ 6 Capacity, 1 Raw 

Barnard: ​ 4 Capacity, 2 Raw 

Eridani:​  8 Capacity, 2 Raw, 0/8 Surveyed 

Centauri:​  8 Capacity, 3 Raw, 1 Census, 1 Morale, 0 Productivity 

Indi: ​ 8 Capacity, 2 Raw, 0/8 Surveyed 

Rigel:​  10 Capacity, 3 Raw, 0/12 Surveyed 

=========================== 

Earth Alliance, Year 1 Turn 12 

Starting Treasury: 0 

System Income: 28 

Commerce Income: 5 

Maintenance: 20 



Misc. Income/Expense: 0 

Current Treasury: 13 

Tech Levels: Escorts-0, Cruisers-0, ​Capital Ships-0​, Flights-0, Bases-0, Troops-0 

Tech Investment: 27 

Turn Orders 

1 Supply Depot @ Barnard [2/20] (1) 

Orion @ Centauri (1/16) [1] 

11 Tech Investment 

Ending Treasury: 0 

BG 1.1 @ Sol 

1 x Orestes 

2 x Epimetheus 

1 x Artemis 

4 x Laertes 

BG 1.2 @ Centauri 

1 x Orestes 

1 x Epimetheus 

1 x Artemis 

BG 2.1 @ Rigel (Survey) 

3 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Eridani (Survey) 

2 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.5 @ Barnard => Eridani 

1 x Oracle 

BG 3.1 @ Barnard 

1 x Artemis 

2 x Laertes 

BG 3.2 @ Wolf 

2 x Laertes 



BG 4.1 @ Barnard 

1 x Convoy 

Sol Defenses 

1 x Orion 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy (Trade Fleet) 

3 x Delta-V 

6 x Aries 

6 x Infantry ​(whoops, forgot these weren’t listed) 

Sol:​  10 Capacity, 5 Raw, 6 Census, 5 Morale, 5 Productivity [0%] 

Wolf: ​ 6 Capacity, 1 Raw [0%] 

Barnard: ​ 4 Capacity, 2 Raw [0%] 

Eridani:​  8 Capacity, 2 Raw, 0/8 Surveyed [0%] 

Centauri:​  8 Capacity, 3 Raw, 1 Census, 1 Morale, 1 Productivity [0%] 

Indi: ​ 8 Capacity, 2 Raw, 0/8 Surveyed [0%] 

Rigel:​  10 Capacity, 3 Raw, 3/10 Surveyed [0%] 

 

=========================== 



Earth Alliance, Year 2 Turn 1 

Starting Treasury: 0 

System Income: 28 

Commerce Income: 5 

Maintenance: 20 

Misc. Income/Expense: 0 

Current Treasury: 13 

Tech Levels: ​Escorts-0​, Cruisers-0, Capital Ships-1, Flights-0, Bases-0, Troops-0 

Tech Investment: 0 

Turn Orders 

1 Supply Depot @ Barnard [3/20] (1) 

Orion @ Centauri (2/16) [1] 

Avenger @ Sol Shipyard 1 (5/10) [5] 

Avenger @ Sol Shipyard 1 (5/10) [5] 

Ending Treasury: 1 

BG 1.1 @ Sol 

1 x Orestes 

2 x Epimetheus 

1 x Artemis 

4 x Laertes 

BG 1.2 @ Centauri 

1 x Orestes 

1 x Epimetheus 

1 x Artemis 

BG 2.1 @ Rigel (Survey) 

3 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Eridani (Survey) 

3 x Oracle 

2 x Artemis 

1 x Delta-V 



BG 3.1 @ Barnard 

1 x Artemis 

2 x Laertes 

BG 3.2 @ Wolf 

2 x Laertes 

BG 4.1 @ Barnard 

1 x Convoy 

Sol Defenses 

1 x Orion 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy (Trade Fleet) 

3 x Delta-V 

6 x Aries 

6 x Infantry ​(whoops, forgot these weren’t listed) 

Sol:​  10 Capacity, 5 Raw, 6 Census, 5 Morale, 5 Productivity [0%] +1 Pop Mod 

Centauri:​  8 Capacity, 3 Raw, 2 Census, 2 Morale, 1 Productivity [0%] 

Wolf: ​ 6 Capacity, 1 Raw [0%] 

Barnard: ​ 4 Capacity, 2 Raw [0%] 

Eridani:​  8 Capacity, 2 Raw, 2/8 Surveyed [0%] 

Indi: ​ 8 Capacity, 2 Raw, 0/8 Surveyed [0%] 

Rigel:​  10 Capacity, 3 Raw, 6/10 Surveyed [0%] 

=========================== 

Earth Alliance, Year 2 Turn 2 

Starting Treasury: 1 

System Income: 28 

Commerce Income: 5 

Maintenance: 20 

Misc. Income/Expense: 0 

Current Treasury: 14 

Tech Levels: ​Escorts-0​, Cruisers-0, Capital Ships-1, Flights-0, Bases-0, Troops-0 

Tech Investment: 0 



Turn Orders 

1 Supply Depot @ Barnard [4/20] (1) 

Orion @ Centauri (3/16) [1] 

Avenger @ Sol Shipyard 1 (10/10) [5] 

Avenger @ Sol Shipyard 1 (10/10) [5] 

Ending Treasury: 2 

BG 1.1 @ Sol 

1 x Orestes 

2 x Epimetheus 

1 x Artemis 

4 x Laertes 

BG 1.2 @ Centauri 

1 x Orestes 

1 x Epimetheus 

1 x Artemis 

BG 2.1 @ Rigel (Survey) 

3 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Eridani (Survey) 

3 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 3.1 @ Barnard 

1 x Artemis 

2 x Laertes 

BG 3.2 @ Wolf 

2 x Laertes 

BG 4.1 @ Barnard 

1 x Convoy 

Sol Defenses 

1 x Orion 

1 x Supply Depot 

1 x Shipyard 



1 x Convoy (Trade Fleet) 

3 x Delta-V 

6 x Aries 

6 x Infantry ​(whoops, forgot these weren’t listed) 

Sol:​  10 Capacity, 5 Raw, 6 Census, 5 Morale, 5 Productivity [0%] +1 Pop Mod 

Centauri:​  8 Capacity, 3 Raw, 2 Census, 2 Morale, 1 Productivity [0%] 

Wolf: ​ 6 Capacity, 1 Raw [0%] 

Barnard: ​ 4 Capacity, 2 Raw [0%] 

Eridani:​  8 Capacity, 2 Raw, 5/8 Surveyed [0%] 

Indi: ​ 8 Capacity, 2 Raw, 0/8 Surveyed [0%] 

Rigel:​  10 Capacity, 3 Raw, 9/10 Surveyed [0%] 

=========================== 

 

Earth Alliance, Year 2 Turn 3 

Starting Treasury: 2 

System Income: 28 

Commerce Income: 5 

Maintenance: 22 



Misc. Income/Expense: 0 

Current Treasury: 13 

Tech Levels: ​Escorts-0​, Cruisers-0, Capital Ships-1, Flights-0, Bases-0, Troops-0 

Tech Investment: 0 

Turn Orders 

//1 Supply Depot @ Barnard [4/20] (1) 

//Orion @ Centauri (3/16) [1] 

Ending Treasury: X 

BG 1.1 @ Sol 

1 x Orestes 

2 x Avenger 

2 x Epimetheus 

1 x Artemis 

4 x Laertes 

BG 1.2 @ Centauri 

1 x Orestes 

1 x Epimetheus 

1 x Artemis 

BG 2.1 @ Rigel (Survey) 

3 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 2.2 @ Eridani (Survey) 

3 x Oracle 

2 x Artemis 

1 x Delta-V 

BG 3.1 @ Barnard 

1 x Artemis 

2 x Laertes 

BG 3.2 @ Wolf 

2 x Laertes 

BG 4.1 @ Barnard 

1 x Convoy 



Sol Defenses 

1 x Orion 

1 x Supply Depot 

1 x Shipyard 

1 x Convoy (Trade Fleet) 

3 x Delta-V 

6 x Aries 

6 x Infantry ​(whoops, forgot these weren’t listed) 

Sol:​  10 Capacity, 5 Raw, 6 Census, 5 Morale, 5 Productivity [0%] +1 Pop Mod 

Centauri:​  8 Capacity, 3 Raw, 2 Census, 2 Morale, 1 Productivity [0%] 

Wolf: ​ 6 Capacity, 1 Raw [0%] 

Barnard: ​ 4 Capacity, 2 Raw [0%] 

Eridani:​  10 Capacity, 2 Raw [0%] 

Indi: ​ 8 Capacity, 2 Raw, 0/8 Surveyed [0%] 

Rigel:​  12 Capacity, 3 Raw [0%] 

 


